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Question Number : 1 Question Id : 2549896385 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Windows, which of the following is a power-saving state?

Options :
1. % Log off
2. ¥ Sleep
3. # Restart

4. % Lock

Question Number : 1 Question Id : 2549896385 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

faete #, Fafeifa & 9 @9-9t, giaR-a=d (power-saving) ffa g2
Options :

1. ® AT 3%

2. ¥ &g



3. % dwrc

4. % lch

Question Number : 2 Question Id : 2549896507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In order to move from one worksheet to another in MS-Excel workbook, one should click:

Options:

1. % Active cell
2. % Scroll bar
3. ¥ Sheet tab

4. * Tab button

Question Number : 2 Question Id : 2549896507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Excel achgch H Teh gehefic & gast gdhefic iR s & forg, w1 & 3 forgent forten aveam anfgw?

Options :

1. % gfeha (Active) T
2. ¥ Thidl IR

3. ¢ sfic dw

4, % g qcq

Question Number : 3 Question Id : 2549897020 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a point-and-draw device?

Options :

1. ¥ Mouse
2. % Scanner
3. % Printer

4. *= CD-ROM

Question Number : 3 Question Id : 2549897020 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
g 9 SIH-91 Ulse-Us-gf [eargd g?

Options :
1.+ A9
2. ¥ &R
3. ® fi®

4. * CD-ROM

Question Number : 4 Question Id : 2549897254 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Linux, which files contains configuration files specific to the machine?

Options:



1. % /lib
2. % Jusr
3. % /dev

4. v [etc

Question Number : 4 Question Id : 2549897254 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
foraT (Linux) #, spi=-Tt wrger & 7:fi9 & forg fafdre (Rf&e), iR wgd gidt 82

Options :
1. # /lib

2. % Jusr
3. ¥ /dev

4.+ [etc

Question Number : 5 Question Id : 2549897627 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a system software?

Options :
1. % Linux
2. # MS-Word
3. ¥ MS-Excel

4. % Tally



Question Number : 5 Question Id : 2549897627 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAafafaa d @ &9-a1, e ey gioedmR 82

Options:
1. « foe (Linux)
2. ® guug-gs (MS-Word)

3. % gquy-uadd (MS-Excel)

4. ® &t (Tally)

Question Number : 6 Question Id : 2549897665 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
A Daisy Wheel printer is a type of printer.

Options :

1. # line

2. ¥ character
3. # laser

4. % inkjet

Question Number : 6 Question Id : 2549897665 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Suil caiet TR, Ueh UhR Al fiiex 81

Options :
1. % <rgq
2. ¥ FGR
3. ® oioR

4, % Fepolc

Question Number : 7 Question Id : 2549898453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which function returns the harmonic mean in MS-Excel?

Options:

1. ¥ HMEAN function
2. * HRMEAN function
3. ¥ HARMEAN function

4. ¥ HRMMEAN function

Question Number : 7 Question Id : 2549898453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
MS-Excel & SH-9T theri¥ gHif=es A1eT (harmonic mean) 241 8?2

Options :
1. ¥ HMEAN e

2. ¥ HRMEAN thas=



3. ¥ HARMEAN thas=

4. ¥ HRMMEAN Ther =

Question Number : 8 Question Id : 2549899298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following memories is a special high-speed memory that temporarily stores

instructions and data the CPU is likely to use frequently?

Options:

1. * Hard disk
2. % Flash chip
3. ¥ Cache

4. % Compact disc

Question Number : 8 Question Id : 2549899298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAfafEa d & -3t 70RY gen Ay grs-wiie AR @ Y st & & fAdar (Sxgareid) $iR Sar ol TUgld e
& fOId CPU 37eRRR (SIgem) IUINT o HehdT 872

Options :

1. ¥ gré fewn
2. ¥ gl Ry
3. ¢ &

4. % piae fewn



Question Number : 9 Question Id : 25498930065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill the blank space in the diagram.

| Inout Devic g —» — Processed
input Data —» | 'NPUL DeviCe in ata —*| output Device |— result—e

Coded Form

Options:
1. ¥ ROM
2. % Memory
3.¥ CPU

4. % Storage

Question Number : 9 Question Id : 25498930065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3R o Rad ®H &1 WA & [oU 998 3ugad fddbed &1 994 &1

— Input Data —
| k 1 Drre 4
Input Data —» | Input Device in - - g:::ﬁseu_'ﬂutpdt Device [— result—»
Coded Form :
Options :
1. # ROM
2. % AARY
3.¥ CPU
4. ¥ @RS

Question Number : 10 Question Id : 25498930917 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The area which holds a rotary tool that will cut the shapes, web material, sheets is known as

Options :

1. ®* anarm
2. % agear
3. % a station

4. % abreak

Question Number : 10 Question Id : 25498930917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3repforai, a9 G, <ftel anfe et srres arefl e fearsy ol giee e aTell WY 3H & T Shgelldl 872

Options:

1. % md

2. ¥ fifRr

3. ¥ WH

4. % g

Question Number : 11 Question Id : 25498931287 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One kilobyte is equal to how many bytes?



Options :
1. % 220
2.+ 210
3. ® 230

4. % 240

Question Number : 11 Question Id : 25498931287 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Uah fohaTiage fohd 918 & SRISR 8T 87

Options :
1. % 220
2.+ 210
3. % 230

4. % 240

Question Number : 12 Question Id : 25498932659 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The communication between a card and a card reader takes place through direct coupling. This

leads to:

Options :
1. ® portability

2. * reliability



3. ¥ security

4. # efficiency

Question Number : 12 Question Id : 25498932659 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
STIRGE hUfelT ehl IUTNT hich TS 3R TS AeX & §1d TR fehaT ST &1 399 T gid1/gidt 872

Options :
1. ¥ gargar (afaferd)

2. % fagg-adr (Remsfaferd)
3. ¥ e (i)

4. % gera (QRERIGE)

Question Number : 13 Question Id : 25498933099 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following computers is used for applications such as scientific simulations, graphics,
fluid dynamic calculations, nuclear energy research, electronic design, and analysis of geological

data?

Options:

1. #* Mini Computer

2. ¥ Mainframe Computer
3. * Micro Computer

4. ¥ Super Computer



Question Number : 13 Question Id : 25498933099 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAefafead # & l=-a1 e, daie Rmgeizm, Tifther, avet Tfdeh! 0T, TRATY] Self SHUH, Sedeli-ic
f&aTE SR saafes Ser o faswor S sy & forg I foar Sirar 82

Options :

1. ® O g

2. % A gy
3. % HTghl hgeR

4. ¥ IR HHGX

Question Number : 14 Question Id : 25498933200 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
bits are used for error detection during data transmission or storage.

Options :
1. % Parity
2. % Start
3. * Stop

4. % Negative

Question Number : 14 Question Id : 25498933200 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1 A 1 RS & &R Ffe &1 Il T o foig felcq a1 Iuat fomar Sirar 1



Options :
1. ¢ IR&E
2. % wWid
3. ¥ ¥y

4. % Jafeq

Question Number : 15 Question Id : 25498933832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
A CPU cycle time is

Options :

1. ® the time taken by the first bit to travel from sender to receiver end of the link
2. ¥ the time taken for a hard disk controller to locate a specific piece of stored data
3. # the total amount of time it takes to respond to a request for service

4.+ the time required for the execution of one simple machine instruction

Question Number : 15 Question Id : 25498933832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Ueh CPU =Ish 999 8T 8:

Options:
1. % Oy G foieh o Rftar ®R dos I/ @A & e ugett fae gry forar mar g

2. # gT8 ST dhcleR o foIy Tugia Sel & Uan fAfA® T @t dldhe (locate) T | o arelT 989

3. % {1 o IIRIY hT TATT 4 | o aTell ol THA



4. « Uah iR 94 [Eer (3ar™) ol fAearfed &=a & forg smaRaes aug

Question Number : 16 Question Id : 2549898169 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In terms of computer security, ACL stands for:

Options :

1. % Access Computer List
2. * Access Command List
3. ¥ Access Control List

4. % Access Create List

Question Number : 16 Question Id : 2549898169 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
HRER YT & g H ACL T QUi &0 1 8?2

Options :

1. % Access Computer List (To9 Shaex forw)
2. % Access Command List (Ve shAis fow)
3. ¥ Access Control List (Ja9 dhele fore)

4. % Access Create List (a9 fohue forwe)

Question Number : 17 Question Id : 2549898741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following teams created the protocol that made it possible to connect content on the

web using hyperlinks?

Options :

1.+ CERN
2. % WWW
3. ¥ ARPA

4. % GOOGLE

Question Number : 17 Question Id : 2549898741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAafafaa & @ fohg &9 7 39 Uickela ot [RAfia fvar fSom greuRicia &1 IuaT e 3 R It stae T
g 9471 fea?

Options :

1.+ CERN
2. * WWW
3. % ARPA

4. * GOOGLE

Question Number : 18 Question Id : 2549899450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following printers is costly?

Options:

1.



% Dot matrix printer
2. * Inkjet printer
3. #* Character printer

4. ¥ Laser printer

Question Number : 18 Question Id : 2549899450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAfafea § 9 ot a1 fiiex 78w glar 82

Options :

1. ¥ gle Aftay i
2. % gapoic fl®

3. ¥ e fUi?

4. ¥ AR fiiex

Question Number : 19 Question Id : 2549899466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the purpose of a printer buffer or spooler?

Options :

1. #* It holds the memory location of the information to print.
2. * It holds the address of the information to print.

3. ¥ It holds the information to print.

4. * it holds the margin details of the content to print



Question Number : 19 Question Id : 2549899466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

flieR TR T TR AT k1 RIT 872

Options :

1. % goH fUic chl ST aTell SThHL i AHRT «icha gidl 81
2. % 3g¥ fiic Y <1 areft gTtREdRM &1 73T gar 8

3. ¥ 3o fiie e o fog grwmrM gt 81

4. ® 3g¥ flie fhd ST dTet STRACE o ATfoi- Heet faaror giar g1

Question Number : 20 Question Id : 2549899625 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a printer?

Options :

1. # Inkjet printer

2. * Laser printer

3. ¥ Dot matrix printer

4. ¥ Screen printer

Question Number : 20 Question Id : 2549899625 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



fAefefed 7 @ o= a1 fiiex 7181 82
Options:

1. # gepole iR

2. % deR iR

3, % gfe ARaw i

4. ¥ ThiF fiie

Question Number : 21 Question Id : 25498910951 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The cold boot process is generally initiated by:

Options:

1. % pressing ALT + CTRL + DEL together
2. * pressing ALT + CTRL + TAB together
3. ¥ turning on the PC

4. # using the Start menu of Windows

Question Number : 21 Question Id : 25498910951 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
hies ¢ Ufehar AR TR GRT [ Y ST 81

Options:
1. % ALT + CTRL + DEL @l Teh 91 &I

2. % ALT + CTRL + TAB &2 ! TehdTY ST



3. ¢ Ui &t =Te] ek

4, ¥ Windows & &I A T IUTNT &hich

Question Number : 22 Question Id : 25498911130 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which printer produces comparatively low quality images?

Options:

1. % Laser

2. ¥ Dot matrix
3.% 3D

4. % LED

Question Number : 22 Question Id : 25498911130 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
oh1= 91 fiier JerTcHeh &0 § A T[UTa diell ST S-1dT 872

Options :

1. % AR

2. ¥ Sic Afdey
3. % 3D

4. % LED

Question Number : 23 Question Id : 25498913455 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a type of redundancy used in image compression?

Options :

1. ®* Psycho-visual redundancy
2. ¥ Inter-pixel redundancy

3. ¥ Programming redundancy

4, # Coding redundancy

Question Number : 23 Question Id : 25498913455 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
7 & 9 ol a1 3AS Sdisd J IuAT i S arett stfakendT (redundancy) &1 ek UaR Tal 872

Options:

1. ® grgent-fagaret sifavendr

Question Number : 24 Question Id : 25498913479 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There is no compression with _____ files which allow images to have very high quality, but also very

large file sizes.



Options :
1. * JPEG
2. ¥ BMP
3. % GIF

4. = PNG

Question Number : 24 Question Id : 25498913479 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ferci| hISel S Igd I aTfeid! hl 3R SRR § Jgd I gl &, I7ehT JuTe (hBI) =Tel g T &1

Options :
1. % JPEG
2. ¥ BMP
3. ® GIF

4. % PNG

Question Number : 25 Question Id : 25498918497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following could be the problem if your printer is printing but there are no

characters/contents seen on the page?

Options :
1. #¥ You installed the wrong printer driver.

2. ¥ There might be no ink in the cartridge.



3. % The cable is disconnected or broken.

4. * The paper quality is bad.

Question Number : 25 Question Id : 25498918497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g MU fTiex HEUT af e 8T & ifch U8 R hls 31eR/chee feams 9 &, at R Gr=T g5 87

Options :

1. % I 7T flier SR ST fohar 8
2. ¥ Bl GopdT § ahIfesT A Wrat 7 &l

3. ¥ hedl g AT & AT ¢ AT 8

4. ¥ HETST <hl UG WX g

Question Number : 26 Question Id : 25498921935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In cryptographic algorithm, does NOT have a key.

Options :

1. # secret key algorithm
2. * public key algorithm
3. ¢ hash function

4. % popular key algorithm

Question Number : 26 Question Id : 25498921935 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fEreiuTTthen Ueriien & % IS &I T8 gielt o

Options :

1. # iche &l germRen
2. % gfseien 6l Teiien
3. ¢ 81 thareH

4, % Oiqer &l TermiRen

Question Number : 27 Question Id : 25498922703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The display of a monitor is rotated. What could be the solution to fix the display?

Options :

1. % Press Ctrl + Alt + the appropriate arrow key
2. # Press Shift + Alt + Up arrow key

3. ¥ Press Shift + Alt + the appropriate arrow key

4. # Press Shift + Ctrl + Alt + the appropriate arrow key

Question Number : 27 Question Id : 25498922703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HiTeR oh1 STt g3 7T 7T | 39 HHKT bl Sk o o folq oRam aweT gim?

Options :



1. ¢ Ctrl + Alt + IUg<h G hl ZaT¢

2. ¥ Shift + Alt + up arrow ! &g
3. # Shift + Alt + IJug<h T hl gamd

4. % Shift + Ctrl + Alt + Iugzh G I &aTq

Question Number : 28 Question Id : 25498924450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a communication system call of Windows?

Options:

1. # CreatePipe()

2. ¥ CreateFileMapping()
3. ¥ Pipe()

4. ¥ MapViewOfFile()

Question Number : 28 Question Id : 25498924450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
371 7 @ &1 91 Windows &1 Teh sRgfiche e it el 8?

Options :

1. # CreatePipe()

2. * CreateFileMapping()
3. ¥ Pipe()

4. # MapViewOfFile()



Question Number : 29 Question Id : 25498925424 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the decimal equivalent of given Hexadecimal number (128)4¢?

Options :
1.9 296
2. # 80

3. # 196

4. % 800
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Options:
1.9 296
2. % 80

3. % 196

4. % 800

Question Number : 30 Question Id : 25498927471 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

PAN connects computers/devices within the range of an individual person.



In the context of computed networks, PAN stands for:

Options:

1. % Personal Area Network
2. * Private Area Network
3. ¥ Public Area Network

4. % Protected Area Network
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Options:

1. ¢ gd=Ie1 URaT Aeadh (Personal Area Network )
2. % yrgde uRAr Aeadh (Private Area Network)

3. % gfsras ulkar Acadh (Public Area Network)

4. % yréads uRar Aeadh (Protected Area Network)

Question Number : 31 Question Id : 2549896740 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is the abuse of electronic messaging systems (including most broadcast media, digital

delivery systems) to send unsolicited bulk messages indiscriminately.

Options:

1. % Spam



2. % Lurk
3. #* Flame

4. % Spark
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Options :

1. ¥ @7 (Spam)
2. ¥ o (Lurk)
3. ¥ g (Flame)

4. % @i (Spark)
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option in Google Bar shows all the apps that you can switch to using your Gmail account.

Options :

1. % Google Apps
2. * Google System
3. # Google Task

4. % Google Title
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Options :

1. ¢ 17T U (Google Apps)

2. ® 17d [9%eH (Google System)

3. # 17T Tk (Google Task)

4. % T <13 (Google Title)

Question Number : 33 Question Id : 2549897692 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Mosaic is:

Options:

1. ¥ a web browser

2. ¥ a programming language
3. * an accounting software

4. ¥ an ERP software
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. v 49 FR¥R

2. % GrrfET T

3. ¥ @i AR

4. ¥ ERP 9iueaR
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Which of the following about SRAM is true with reference to computer memory?

Options :

1. * SRAM is less expensive than DRAM.

2. # SRAM is to be periodically refreshed.

3. ¥ SRAM retains data bits in its memory even when power is off.

4. ¥ SRAM is a random access memory.
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Options :

1. ¥ SRAM, DRAM ¥ &H Hgift &

2.



# SRAM ot HI-gHYg UR RIKST &heAT 8T 81
3. ¥ fastelt dg g1 oR +ft SRAM 31Ut AHRT # ST foed ohl sRemR 3@t 21

4.+ SRAM Ueh 389 Uadg A< g1
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If there are ‘p’ number of capital letters and ‘q' number of small letters, after applying the toggle
case option of change case list there will be number of capital letters and number of

small letters.

Options :
1. % p,p
2.%q,9

3.%p,q

4.¥q,p
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Options :
1.%p,p
2.% 49,9

3.%p,q



4.¥q,p

Question Number : 36 Question Id : 25498910672 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
There are section breaks in 'Breaks' option of Page Setup group of Layout tab in MS-Word?

Options :

4. %5
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Options :

Question Number : 37 Question Id : 25498910737 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
Which of the following displays the address of the current active cell in an MS-Excel work sheet?

Options:

1. ¥ Name box
2. ¥ Formula bar
3. ¥ Menu bar

4. % Tool bar
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Options :

1.« 39 T
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Preventing unauthorised access to programs and data refers to which of the following Operating

System'’s function?

Options :

1. # Control over system performance



2. # Device management
3. * File management

4. ¥ Security
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Options :

1. ® %A gaH R g
2. % fearsy A

3. ¥ hige AsiHc

4, ¥ R
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In MS-Word, while working on a document, to make sure that every name of the day will NOT be

capitalised in a sentence, then which of the checkbox options has to be unchecked?

Options :

1. * Correct two initial capitals

2. ¥ Capitalise first letter of sentences
3. ¥ Capitalise first letter of table cells

4. ¢ Capitalise names of days
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Options :

1. ®¥ Correct two initial capitals

2. ¥ Capitalise first letter of sentences
3. * Capitalise first letter of table cells

4.+ Capitalise names of days

Question Number : 40 Question Id : 25498911508 Question Type : MCQ Option Shuffling : Yes
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The option in the Proofing tab provides the option to count the number of paragraphsin a

document in MS-Word.

Options :

1. * Count Paragraphs
2. % Word Count

3. ¥ Paragraph Count

4. % Page Count

Question Number : 40 Question Id : 25498911508 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® srde RATHT (Count Paragraphs)
2. ¥ g8 srde (Word Count)

3. % R s1de (Paragraph Count)

4. % o9 & (Page Count)

Question Number : 41 Question Id : 25498911834 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following with respect to Unix Operating System is FALSE?

Options :

1. * Itis a stable Operating System.

2. # Ttis a multi user Operating System.

3. # Itis a multi tasking Operating System.

4. + 1t does not provide Graphical User Interface.
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Options :

1. % gg Uen @R iTRfET fweq g1

2.
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Which of the following refers to the products that are designed to satisfy a particular need of a

particular environment?

Options :

1.+ Application software
2. * Device drivers

3. # Firmware

4. # Qperating system
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Options:
1. ¢ U&AIhe IuedaR
2. % fSarzy grzad

3. ® HdR

4.



® SToRfT feeq

Question Number : 43 Question Id : 25498911886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
' ARSI (Show Markup)' faehed, MS-Word # Reg ¢a & 1 & @ forg 99g & Iueisy 82

Options :

1. % &g (Speech)

2. ® gfth (Proofing)
3. ¥ ®fcg (Comments)

4. e (Tracking)
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
'Show Markup' option is available in which of the following groups of Review tab in MS-Word?

Options :

1. * Speech

2. % Proofing
3. * Comments

4.+ Tracking

Question Number : 44 Question Id : 25498913331 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
Which of the following is the shortcut key to justify the text in an MS-Word document?

Options:

1. % Ctrl+R
2.9 Ctrl +]
3.% Ctrl + T

4, % Ctrl+L
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Options :

1. % Ctrl +R
2. ¥ Ctrl +]
3. % Ctrl+ T

4. % Ctrl + L
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Select the FALSE envelope size in the mail merge process from the given Envelope Options in MS-

Word.

Options:

1. % B4



2. % B5
3. * B6

4. v B7
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Options :
1. % B4
2. # B5
3. ¥ B6

4. ¥ B7

Question Number : 46 Question Id : 25498919174 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : 0 Minimum Instruction Time: 0
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There is/are tab(s) in the Envelopes options dialogue box in mail merge.

Options :
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Options :

Question Number : 47 Question Id : 25498919201 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word, to use other than existing names and addresses from a file or database or to create a
new list the radio button has to be enabled in the third step of mail merging the email

messages.

Options :

1. % Use an existing list

2. ¥ Select from Outlook Contacts
3. ¥ Type a new list

4. * Import the list
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Correct Marks : 1 Wrong Marks : 0
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Options:

1. ® Higlar gt o1 IuThT &L (Use an existing list)

2. ¥ QOutlook dueh ¥ I (Select from Outlook Contacts)
3. ¥ o 7% gt a1su A (Type a new list)

4. ® gl 3¢ &2 (Import the list)
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Correct Marks : 1 Wrong Marks : 0
Which of the following groups is NOT available in Insert tab of MS-Word?

Options :

1. % Pages

2. * Tables

3. * Illustrations

4. ¥ Paragraphs

Question Number : 48 Question Id : 25498920602 Question Type : MCQ Option Shuffling : Yes
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Options :

1. * ofSisT (Pages)



2. ® ¢geg (Tables)
3. ¥ g%y (Illustrations)

4. + Rt (Paragraphs)
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The Format Painter option in MS-PowerPoint is found in which of the following tabs?

Options :
1. * Design
2. * View
3. * Insert

4. % Home
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Options :

1. ® &5 (Design)
2. % 3 (View)

3. # 3¢ (Insert)

4.+ g1 (Home)
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Which of the following system software programs is/are intended for diagnostic and maintenance

tasks of the computer?

Options :

1. * Device drivers
2. * Firmware

3. ¢ Utilities

4. % Operating system
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Options :

1. % fearsy grgad
2. ¥ HHRR

3. ¢ gfefadia

4, % ATRfT feeq
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The is a toggle key that lets you switch the letters on your keyboard from lowercase to

uppercase.

Options :

1. % Num Lock key
2. * Tab key

3. ¥ Caps Lock key

4, # Space bar key
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Options :

1. ® 99 dich Poil

2. % g ot
3. ¢ R dich il

4, % WY IR poit
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: N.A Think Time : N.A Minimum Instruction Time : 0
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A video consists of a sequence of

Options :

1. * layers



2. ¥ packets
3. % frames

4. % slots
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Options :
1. ® g
2. % Qche
3. ¥ thA
4, ¥ wile
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Read the given passage and answer the questions.

Quasimodo

My next pet was a pigeon. He was still very young and had to be force-fed on bread-and-milk and
soaked corn. He was the most revolting bird to look at, with his feathers pushing through the
wrinkled scarlet skin, mixed with the horrible yellow down that covers baby pigeons and makes
them look as though they have been peroxidising their hair. Owing to his repulsive and obese

appearance, we called him Quasimodo.

Since he had an unorthodox upbringing, without parents to teach him the facts of life, Quasimodo
became convinced that he was not a bird at all and refused to fly. Instead, he walked everywhere.
If he wanted to get on to a table, or a chair, he stood below it, ducking his head and cooing loudly
until someone lifted him up. He was always eager to join us in anything we did and would even try
to come for walks with us. This, however, we had to stop, for either you carried him on your
shoulder, which was risking an accident to your clothes, or else you let him walk behind. If you let
him walk, then you had to slow down your own pace to suit his. If you got too far ahead you would
hear the most frantic and imploring coos, and if you turned around you would find Quasimodo

running desperately after you, his tail wagging with indignation at your cruelty.

Quasimodo insisted on sleeping in the house; no amount of coaxing or scolding would get him to
inhabit the pigeon loft I had constructed for him. He preferred to sleep at the end of Margo's bed.

Eventually, however, he was banished to the drawing-room sofa, for if Margo turned over in bed



at night Quasimodo would wake, hobble up the bed, and perch on her face, cooing loudly and
lovingly.

Sub questions

Question Number : 53 Question Id : 25498921134 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The narrator describes the pigeon as ‘a revolting’ bird because:

Options :

1. #* he could not fly.

2. * he wanted to go for evening walks.

3. ¥ he had wrinkled skin covered with yellow feathers.

4. * he had to be force fed.
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The pigeon was named ‘Quasimodo’ because:

Options:

1. % he was fat and ugly.

2. # he ate only soaked corn.
3. * he could not fly.

4. * he behaved like humans.

Question Number : 55 Question Id : 25498921136 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
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How do we know that Quasimodo was always eager to go on walks?

Options :

1. % He walked everywhere.

2. * He did not know how to fly.

3. ¥ He complained loudly if he was not taken along.

4. * He loves spending time with humans.
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The phrase ‘risking an accident to your clothes’ means the pigeon:

Options:

1. # did not like their clothes
2. % could soil their clothes
3. * could risk a fall

4. % could get entangled in their clothes

Question Number : 57 Question Id : 25498921138 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Quasimodo protested when he was:

Options :

1. % |eft at home



2. % lifted on shoulders
3. # taken for a walk

4. ¢ |eft behind during walks

Question Id : 25498921133 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Question Number : 53 Question Id : 25498921134 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
G = hecR ol 'O velt' =i Fher 82

Options:

1. ¥ gg IS Fo! UTdT AT

2. % gg mH T W W ST 98T AT

3. ¥ Hifch IGh! = ot Ul O geht g3 FiRat aril ot

4, % IG GHT TRGE ! RIA™T gdT o

Question Number : 54 Question Id : 25498921135 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SR T ATH 'FATHHIST SR 3T TT UT?

Options :
1. ¢ gg HieT 3R W o1
2. ¥ gg 7 gu Hech o 4 @1 AT

3. % gg IS gl Urar ATl

4, % Ig Al 1 RE HAGR T AT

Question Number : 55 Question Id : 25498921136 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
&9 I8 hY ST foh ardiATS! g3 STTg el ohl I gdT oT?




Options :

1. ¥ 9g & SIg Tea T

2. % 3Y 71 yar a1 foh g IS 81

3. ¥ gg [Ahrad hAT SR IY 1Y gl of S

4, % 3¢ 3N o 91Y GHY a1 9gd u¥c g

Question Number : 56 Question Id : 25498921137 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IR '3k hUS RIS G- Bl Wl &' I AdAd & foh ek |

Options :

1. ¥ @ Ih hUS TS gl 3

2. ¥ 3TUch hUSI hl Tial R Hehell &
3. % oY fiRA BT TR &) Geha1 &

4. % 3MMgch US| ot IS Johdl &

Question Number : 57 Question Id : 25498921138 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fardimtet 7 foa”ty forar, 99 ag /39 |

Options :
1. % RWR B fear man
2. % Gyl IR I/ ™

3. % g o forg & ST
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Question Number : 58 Question Id : 25498914261 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the approximate value of the given expression?

(Note: you are not expected to calculate the exact value)

323 971 56
Rt

Options :



1. % 27

4.+ 21

Question Number : 58 Question Id : 25498914261 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

feafof@a few oo e &1 srgafaa A1 4 ghar anfeee

(ITTRT WETF AT T IUTAT Adl LT 8)

323}(9?1){55
55 251 61

Options:
1. % 27
2. %3
3.% 4

4. v 21

Question Number : 59 Question Id : 25498929021 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A dealer marked the price of an item at 40% above the cost price. He allowed two successive
discounts of 20% and 25% to a particular customer. As a result, he incurred a loss of ¥448. At what

price did he sell the item to the said customer?

Options :



1. % 32,416
2.¥%2,352
3. % 32,268

4. % 32,152

Question Number : 59 Question Id : 25498929021 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

T fo el 9] R 3R AP A5 40% % F AFU 3 A ¢ 9 OF T A W
T8 T 20% 3T 25% i & FA GE T U ¢ S 3U 2448 At gk ¢ ok @ g
F o AP0 T 98] 07

Options:

32,416

1. %

, o 2,352

L % 2,268

4 x 22,152

Question Number : 60 Question Id : 25498929061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression?

(Note: you are not expected to calculate the exact value)



3214.99 + 285.02 + 600.02 - 4.01

Options :
1. ¥ 3650
2. ¥ 4096
3. # 4200

4. % 3225

Question Number : 60 Question Id : 25498929061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

friofGd Se # TeRed (?) % T W S A a4 g aqee? (e 3w g7 A
e 1 e 7 2)

3214.99 + 285.02 + 600.02 - 401 =7
Options :

1. % 3650
2. ¥ 4096
3. * 4200

4. % 3225

Question Number : 61 Question Id : 25498929087 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the value of the given expression?



54.2 +13.52+0.52-0.56 - 0.07

Options :
1. % 85.44
2. % 7212
3. # 66.57

4. 67.61

Question Number : 61 Question Id : 25498929087 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
=T g & yeaEs (?) & T 9 47 H0T ?

542 + 13.52 + 0.52 - 0.56 - 0.07 = ?
Options :

1 % 85.44

> % 72.12

5 % 66.57

4 v 67.61

Question Number : 62 Question Id : 25498929515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

If (m +n)™ and (m — n)™* terms of a geometric progression are p and g, respectively, then m™ and " terms
are, respectively:

Options :

m

| o o ()

m

| \/ﬁ and p G)H

2. ¥

m

. vamda()F

m

. pq and p E)ﬁ

Question Number : 62 Question Id : 25498929515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
gfe Teh TUMRR 1 & (M + n)d 3R (M - n )d U& hAT: p 3R q &1 df md 3R nd g shAT: T gir?

Options:



m

L pa SRp (2)”

il

Question Number : 63 Question Id : 25498929706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(1+ cotB — cosecB)(1+tanf + sech)
(cosect — sinf)(secl — cosB)(tanb + cotf)

is equal to:

Options :

Question Number : 63 Question Id : 25498929706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

(1 +cot@—cosecBM] +tan @ + )
Y F A O FuET g

(cosec 8 —zin 8)(sec @ — cos@)(tan & + cotd)

Options:
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Question Number : 64 Question Id : 25498912884 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Online
Mandatory
6

6

6

Yes
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the first and the second letters of the word UNPRECEDENTED are interchanged with the last and
the second last letters, and similarly the third and the fourth letters are interchanged with the
third and the fourth letters from the last, respectively, then what will be the seventh letter to the

right of the third letter from the left?

Options :



®p

Question Number : 64 Question Id : 25498912884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

gfg 27 UNPRECEDENTED & ugat 3R g@R 37eR i fefd @l sifam ofik sifam @ uget aret s1er § saat fam san
2 iR 8ieh 3ft ave TR 7 Y reR ot sifam T chmar: FieR 7 91 s1eR T gt fean San &, at arff ofik @ iR

318 oh T TR GTadi 318k ahi- IT givm?

Options :

Question Number : 65 Question Id : 25498919635 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select the option with the quality/description common to the three given words.
Wasp, Cricket, Beetle

Options :

1. % Insects

2. * Pathogens

3. # Microbes



4. % Pesticides

Question Number : 65 Question Id : 25498919635 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
39 faned o1 99+ difSiy st i fag g i+ 2reat & GHT 70T At ek Fear gl

Jdan : R : W
Options :
1. ¥ fie

2. & I¥ToHR

3. ¥

4. ¥ Ryeaeen

Question Number : 66 Question Id : 25498919649 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the option in which the words share the same relationship as that shared by the given three

words.

Furniture : Table : Almirah
Options :

1. %* Building : Wall : Brick
2. ¥ Fruit: Orange : Apple

3. #* Mother : Father : Sister

4.,



# Sea: Road: City

Question Number : 66 Question Id : 25498919649 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gART : §R : §¢
2. ¥ el Gal : A9
3. % Hrar : fuar: o8

4. * gYg : GSh : A

Question Number : 67 Question Id : 25498919716 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third letter-cluster in the same way as the second letter-

cluster is related to the first letter-cluster.
QDXM : SFYN :: UIOZ :?

Options:

1. ¥ WKPA

2. % QNLA

3. * LPWA



4. % PAQM

Question Number : 67 Question Id : 25498919716 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
39 fared o1 794 difSiy forad fear mar sreRr-a9g dieRr SieR-gig 9 It YR defid 8 o UehR gErT 31eR-99g
Ugel 318R Tig 9 Heifdd |

QDXM : SFYN :: UIOZ :?

Options :

1. ¥ WKPA
2. % QNLA
3. # LPWA

4. = PAQM

Question Number : 68 Question Id : 25498928165 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In a certain code language, GO is coded as 32, and SHE is coded as 49. How will SOME be coded in

that language?

Options :
1.4 56
2. # 58
3. % 62

4. % 64



Question Number : 68 Question Id : 25498928165 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gfe fAfYd e 9T 7 afg GO @t 32 & ®U # 3R SHE &t 49 & ¥4 H FHeag fohar Sirar g, df ¢t e # SOME
I ford T4 H geeg fohar samm?

Options :
1. % 56
2. % 58
3. % 62

4. % 64

Question Number : 69 Question Id : 25498928305 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the option in which the words share the same relationship as that shared by the given pair

of words.

Rotate : Gyrate

Options:

1. # Putrefy : Reject

2. % Anachronism : Cubism
3. * Accolade : Criticism

4. ¥ Absolve : Exonerate

Question Number : 69 Question Id : 25498928305 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ ST Ilpd

2. % hldIYH ; 9qdlq
3. ¥ T ; SMTAEAT

4.,  foTh e : B &1
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Is Section Default? : null

Question Number : 70 Question Id : 2549895265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Bhilai Steel Plant is the collaborative project of the Government of India and

Options:

1. ¥ the Soviet Union
2. % Britain

3. * Germany

4. % Poland

Question Number : 70 Question Id : 2549895265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
RIS ST GIF YR TR 3R &t ggantt aRate 8|

Options :

1. + qifega g

2. % fgeq

3. #® St

4. % Uidie

Question Number : 71 Question Id : 2549899734 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following statements with reference to the human body is/are correct?

1. The common bile duct releases its contents into the stomach.

2. The pancreatic duct releases its contents into the duodenum.

Options :

1. % Only 1

2.9 0Only 2

3. ¥ Both 1 and 2

4. % Neither 1 nor 2

Question Number : 71 Question Id : 2549899734 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
g PR & e # F=fafed & @ o a1/a ous ag g/8?

1. g O arfg-t srnera § gt (hde) ol Jh et g
2. IRt arfgt getewd # 31U+ uarf (chde) aht b ahxt 8l

Options:

1. ¥ ohael 1

2. ¥ had 2

3. % 13R23H

4, % 3d13MRT82

Question Number : 72 Question Id : 25498912780 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
With which of the following sports is the Choudhury Trophy associated?

Options:

1. # Golf

2. ¥ Circumnavigation of the earth by car
3. * Formula One racing

4. # Cycling

Question Number : 72 Question Id : 25498912780 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
et T’ fohg et T Jaifda g2

Options :

1. ¥ et

2. ¥ &R gRI g1 ohT TR AT
3. ¥ hiHeT o AT

4. % grsfopfe
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is correctly matched?

Types  Origin

1) Granites - Igneous Rock



2) Marbles - Metamorphic Rock
3) Quartzite - Metamorphic Rock

4) Limestone - Sedimentary Rock

Options :
1.1,2,3and 4
2. % 1,3and 4
3.% 2and 4

4. % 1,2and 3

Question Number : 73 Question Id : 25498929922 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
PR § @ # 3 gm gifeg &2

TR e

1) THTSE - SN ek

2) HTEd - HeHRtheh Ak

3) FATENTEE - AeHRtheh Uk
4) A - Y3 ek

Options :
1.41,2,33R4
2. % 1,33R4
3. % 23R4

4, % 1,2 3R 3

Question Number : 74 Question Id : 25498932576 Question Type : MCQ Option Shuffling : Yes
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Which of the following is NOT one of the fundamental rights mentioned in the Constitution of
India?

Options :

1. * Right to freedom of religion

2. ¥ Right to freedom of thought and expression
3. #* Right to equality

4. + Right to equal pay for equal work for both men and women

Question Number : 74 Question Id : 25498932576 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
= 4 9 o9 91 YR Jfgur d afoid ues Aifere SifdeR 81 82

Options:

1. % Tffien TddT &l YRR

2. * frar 3R srfHeafh i Wd=Idr o1 AfdHhR
3. ® gATAT I AfTHR

4. ¥ q&Y 3R AfgdT1 &l ol A i & folg THH dd- &1 SAfIFR
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Match the Tribes in list T with their Habitat in list I1.

List=1I List-1I
A. Semang 1. Hot desert
B. Beduin 2. Equatorial belt
C. Masai 3. Temperate grassland
D. Kirghiz 4. Savannah grassland

Options :

1. % A-1,B-2,C-3,D-4
2. % A-1,B-2,C4,D-3
3. ¥ A-2,B-1,C-4,D-3

4. %# A-2,B-1,C-3,D-4

Question Number : 75 Question Id : 25498935829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
- | (SA=nta) & = - 1| (Fpfas ad) & Jry Fee H
= = -

B,

A. BHATT 1. 717 I

B. 958 2. TFACHTST doc

C. AES 3. ofrarsur a1w &1 FAT
D. = 4. HEIAT OTH F HaT

Options :

1. # A-1,B-2,C-3, D4

2. ¥ A1,B-2,C-4,D-3

3. ¥ A-2,B-1,C-4,D-3

4. ®# A-2,B-1,C-3,D-4
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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The world is beset with falsified ideologies and with people who want to exploit each other
in the fields of business and politics as well as education. Therefore it is of paramount
importance that in addition to the rule of law some guiding principles as to how we must
conduct ourselves in society and our institutions must be set. Throughout history mankind
has genuinely wondered about the topic of ethics and tried to derive universal moral
principles governing behaviour. Our modern understanding of ethics can help us create a
better world by becoming better and more caring citizens. Ethics are basic standards or
ideals that regulate the actions of a person or a community. This is not a responsibility to

bear but a wise and successful guide to existence and progress. Ethics is essential in



business as well as in academic institutions and social structures because it is a crucial
cornerstone on which an enlightened system is built. It is often not the same to be following
legal rules and being ethical. Laws like emotions will deviate from what is moral. Our own
pre Civil War slavery laws and the old apartheid laws of present day are grotesquely obvious
examples of laws that deviate from what is ethical. Being ethical is not similar to following
whatever the predominant culture allows. In every community most citizens follow values
that are ethical. But behavioural standards in society can deviate from moral standards.
Culture may become immoral and unethical. Nazi Germany is a perfect example of a culture
that is politically compromised. Academic dishonesty is yet another component of unethical
conduct. It is a behaviour or an attempt that involves the creation of an unfair academic
benefit for oneself or a disadvantage for any other representative of the educational
institutions. The family has a powerful impact on the beliefs and actions of an individual.
Parents create guidelines from the beginning and they are the foundation of our ethics and
morals. Devotion to individual values is part of what makes a student effective. Lack of
ethical dedication will always lead to academic incompetence. Social principles and social
standards have declined over time. Citizens have lost faith and been greedy in their
purposes and thus in lives of people principles and morals have diminished and lost
meaning. An individual with ethical values is interested in the right actions and he also
knows it internally. The individual doing evil acts at the same time may sometimes consider
it correct to adjust to the social structure in which he or she lives but has terrible morals. If
the morals of a person and ethical values have plummeted they will never feel any guilt or
anxiety in executing misdeeds or even a severe offense will be suitable to their morals and
ethics. Much of the time it is the context and the way an individual is raised that determines
his acts and thus his morals and ethics. To see a world with a relatively low rate of violent
crime and peace we need to look at the values and ethics that our sculptures and religious
leaders teach. We will shoulder the pressure of making our world and in turn transform our
planet into a beautiful place where all human beings will lead a life with integrity and
dignity.
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